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Rewrite each expression in rational form.
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Rewrite each in radical form. Then evaluate.
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Determine whether the table represents an exponential growth, exponential decay or neither.
Explain.
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11. The value of a TV is $1500. Its value decreases by 14% each year.
a. Write a function that represents the value y (in dollars) of the TV after t years.

Y = Boo((-. ()

b. Find the approximate monthly percent decrease in value.

% = %6/0 Rac maeviHn
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12. A penny doubles every day for 3 weeks. How much money do you have after 3 weeks?
3weeks = 1\ days Y= 0.01(H”
:'\Mo, 411,92 '\)

13. Alicia starts an account with $2500 with interest of 3.5% annually. How much money
does Alicia have after 10 years?

Y = 2900( (+ o.oc’;,cg)lo
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Determine if each function is a percent decrease or percent increase. What is the value of the
decrease or increase? .

14.y = 3(1.35)¢ 19. y = 2(0.63)¢

NCr20R, [ RV o .
455, oy

Determine whether the given ordered pair is a solution to the function.

15.y = 4(2)%, (3,32) 16. y = —(3)*, (2,9)
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19. Brittany invest money into stock. Erin invests money into a savings account. Brittany’s
investment is an exponential function and Erin’s investment is a linear function. Let x
represent number of years after the initial investment and y represent total amount of
money (in thousands) after x years. Use the graph below to answer the questions.

a. How much money did both Erin ol

and Brittany start with?
Evin 12,000
By 4—{-{1%\\23‘*{ QOO

b. How many years does |t take for
Erin to make $22,000?

v Ys

c. After how many years will Brittany
have more money than Erin?

Yyrs

d. How much money will Brittany
have after 6 years?

46,000




